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http://130.149.60.45/~farbmetrik/LEO2/LEO2LON1.TXT /.PS; start output; RefledtiorO to 2,5% |
fﬁ N: No Output Linearization (OL) data in File (F), Startup (S) or Device (D), Page 1/1
\/ Interpretation rgb -> rgb* and CIELAB data of a 48 step elementary hue circle Interpretation rgb -> rgb* and CIELAB data of a 48 step elementary hue circle
c g ) || for aLECD low glossy display with the luminance reflectiorL, =0% compared to the white reference (100%) for a LECD low glossy display with the luminance reflectiorL,=1,2% compared to the white reference (100%)
D B | 48 sep cementary hue ciclo with huestd“6: = 265, 92.3, 1622, 2717, ana ' = 2170, 48 step lomentary he Cicle Wi hUESi) “B: = 255, 923, 162.2, 2717, an 11 =217.0,326.6
= ‘comparison with six device hue)Y! “VM: hyy .= 46.0, 101.2, 131.0, 196.6, 306.1, 326. comparison with six device hueY. “VM: hay = 41.1, 101.5, 131.8, 196.7, 305.0, 326.7
350 9 step equidistant grey scalet* = 0.0, 11.9, 23.9, 35.8, 47.7, 59.6, 71.6, 83.5, 95.4. 9 step equidistant grey scalet* = 10.4, 21.0, 31.7, 42.3, 52.9, 63.5, 74.2, 84.8, 95.4
ﬁ'z‘ Uma  Prgh OVmae A2 habmae 19b > rgb*ua Wma  hgh OVuae A2 haomae 1G> 1gb* e Uma  Nrgh OMmae A2 habmae fgb—>rgb*ya Una Mgy OVmae A2 haomae 190> 19b* e
DL, |[ook 00 10 00 021 0318 255 100000000000 CO0B=C 2100 0.0 0524 10 0.608 2170 000010001 OR300 10 00 0189 0407 255 100000000000 COD=C 2100 00 0825 10 0604 2170 00001
=5 586 10 00 0141 0871 335 100001250000 120 0812 2238 000008751000 |12 366 10 00 012 004 338 1000012500pp ci2b 216600 0899 10 0.807 2238 0000075 Lovo)
58 435 10 00 o047 0625 £22 10000250000 c25b 0022 2307 000007501000 |75 To G085 00 04 47 TOO00Z0000 c2sh 2239 00 0873 10 0015 2307 00000750 1000
= T IO 0TI 00 050 505 TO00IERN0 cah 0300 2975 000006251000 |17 518 10 027100 0165 505 100003750000 CITh 2318 00 0837 10 0301 7S 00000625 1000)
So %o 10 0as 00 osea ses 1000000000 comm 0508 durs ooooseoron|  |mo G0 Lo bai 0o 03re ses 1o000s00000 cbn 400 00 Gsos 1o ossh sers 0000 0ses oo
EN 682 10 051100 008 672 100006250000 c62b 08512512 000003751000 |12 682 10 053500 0278 672 100006250000 cG2> 2482 00 0766 10 0874 2512 000003TS Lovo)
58 761 10 064400 015 756 100007500000 c75b 02¢ 2580 00000250 1000 75 761 L0 06500 0267 56 100007500000 c75b 00000250 1009
23 ®e 10 076700 0139 40 100008750000 BTG 0651 2669 000001751000 |7 4 10 077200 0172 840 100008750000 cBTb 00000125 1000
o< 00g=) 900 10 088600 009 523 100010000000 boOm 0,091 271.7 0,000 0,000 1.000| [00g=) 900 10 088500 002 923 100010000,000 bOOM 0,000 0,000 1.000
Do | e SR v 039 200 02500000100 | PO ORI 000001 o070t 0w oo 02500000100
S | T o b2sm 0419 2660 025000001000 |59 T obo b2sm 02500000 1000
ZE |l msosrio 00 s uss 062510000000 bam 0265 2031 037500001000 |[379 1118 066510 00 068 1185 062510000000 ba7m 03750000 1009
H2 |[sw_ 1m0o0auio oo o5 1213 05001000000 bsom 0329 3002 05000000 1.90] jsg 1200035210 00 0181 127:3 05001000000 bsom 050000001
O X || 700 10 0155 086t 1560 037510000000 AT OTEOT TO DRI I OFRONGLON|  |jf2q 1282700 10 018 0464 1360 0375 10000000 AT e 0000
S || 136100 10 426 0380 1447 025010000000 bTEM 3161 062700 10 00I3 3144 075000001000 |5 136100 10 042 036 1447 025010000000 biSm 07500000 1000
(] i87g 143400 10 0623 0987 1535 012510000000 b87m' _323.4 088 00 10 0037 3215 0.8750.0001490) i87g 143400 10 0623 0982 1535 012510000000 b87m' _323.4 0.88400 10 0074 3215 0.8750.0001490|
S || 0774 0152 1622 000010000000 MOOMI00 10 00 0978 0477 3285 100000001000 00C=G 1500 00 10 0774 0.183 1622 000010000000 D 00 0877 0186 %286 100000001000
3 0864 0913 1691 000010000125 m12r 3365 10 0.0 0889 086 3357 100000000875 1566 00 10 0854 0915 1691 0.00010000.125 mizr 3366 L0 00 0859 0889 3357 10000.0000875|
53 0503 0226 1759 000010000250 m25r 3439 10 00 0763 0892 U28 100000000750 163500 10 0903 0225 1759 00010000250 m25r 39 10 00 0764 0883 3428 10000.0000.750)
v Ba 093 0452 1628 0O00LO0DOTS MM 18 10 0O 06 0899 469 100000000625 171800 10 0935 0481 1828 00001000037 M3 L8 10 00 0GB 0882 493 100000000625
] 0967 073 1696 000010000500 S0 3600 10 GO 0528 0.74 7.0 100000000500 100000 10 0367 0737 1896 00010000500 MSOr 00 10 0O 0528 072 570 100000000500
=3 o 990 0994 1964 000010000625 mear 3682 10 00 0435 0521 42 100000000975 108200 10 0999 0352 1954 000010000625 mexr 3662 10 0O 0434 OSIL 42 100000000375
23 165100 0575 10 07 2033 000000750 m7St 76110 00 0351 019 113 100000000250 1061 00 0875 10 0157 2033 GO0 LO000.150 m75r 761 10 00 0T 0222 113 100000000250
35 || 203400 095 10 oaos 2101 00001000087 meT 34 10 00 0274 0804 184 100000000175 G7C 2036 00 095 10 04 2101 000010000875 maN 33410 00 0263 0857 184 100000000125
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o® Interpretation rgb —> rgb* and CIELAB Gata of a 48 step elementary hue circle Interpretation rgb —> rgb* and CIELAB Gata of a 48 step elementary hue circle
= = for a LECD low glossy display with the luminance reflectiorL,=0,6% compared to the white reference (100%) for a LECD low glossy display with the luminance reflectiorl.,=2,5% compared to the white reference (100%)
>0 48 step elementary hue circle with huesRICB: hy, = 25.5, 92.3, 162.2, 271.7, and M' = 217.0, 328.6 48 step elementary hue circle with huesRICB: hy, = 25.5, 92.3, 162.2, 271.7, and M' = 217.0, 328.6
=3=3 comparison with six device hueYL “VM: ha = 43.3, 101.4, 131.4, 196.6, 305.6, 326.8 comparison with six device hueYL “VM: hay, = 38.2, 101.8, 132.5, 196.7, 304.1, 326.6
S 9 step equidistant grey scalet* = 5.0, 16.3, 27.6, 38.9, 50.2, 61.5, 72.8, 84.1, 95.4. 9 step equidistant grey scaleL* = 17.7, 27.4, 37.1, 46.8, 56.5, 66.3, 76.0, 85.7, 95.4.
ii ) Prgo OV'wae A2 habuae 19b > gb*wa "va  Mgb OMMae A2 hapmae G0 ->rgb*na uy gb  OV'Mae A2 hapmae fgb—>rgb*ya Wma  hgh OVuae A2 hapmae 9D ->rgb*na
= 00=R 300 10 00 0205 0364 255 100000000000 COOb=C'210.0 00 0924 10 0606 217.0 0.00010001 00=R 300 10 00 0189 089 255 100000000.000 COOb=C'210.0 00 0925 10 06 2170 0.0001.0001000)
wm M2 366 10 00 0131 0949 338 100001250000 ¢12b 2166 00 0899 10 0803 2238 0.0000.8751.000| n2 366 10 00 0086 0312 338 100001250000 c'12b 2166 0.0 10 0803 2238 0.00008751.000
SQ ||z o 10 00 son v ez imoomormp czm s 00 oo 1o oo sy pwoomoow| i —is o0 o0 tosr 2 Tomozonn cam 0007 2307 00000750 1000
HQ 77 518 10 024200 0832 505 100003750000 c¢37b 2318 0.0 0.837 10  0.304 237.5 0.0000.625 1.000| 137 518 10 0308 00 0462 505 1.0000.3750000 ¢37b 0295 237.5 0,000 0.625 1.000|
'S |[s0 00 10 0200 0w 589 100005000000 estb 2000 00 00110 0591 2444 0000501000 |1 600 10 0.438 00 0472 569 10000500000 50D 0562 2444 00000500 1000
B || 2 10 osmo00 oaiere 10005000 o 20200 076510 0877 2512 00005ELON| | 32 10 055100 0407 672 100008250000 c2 0869 2512 00000375 1000
2 |78 761 10 0ss 00 0203786 100007500000 €7 256100 072 10 0236 2580 000002501 75 761 L0 066500 0317 56 100007500000 c75b 0227 2580 00000250 1000
QR |[#1 ¢ 10 077 00 oistaio iowosmsooo cem zmae 00 06 10 06 2649 0000ISi  |®7 4 10 07500 0198 60 10000870000 coTD 0646 2649 00000125 1000
~ jooc 900 10 0886 0.0 1.0001.000 0.000 boOM' 10 0091 2717 0.000 0.000 1.000| jooc 900 10 0884 0.0 1.000 1.000 0,000 bOOMY 0,095 271.7 0,000 0,000 1.000|
3 o s 955 10 0556 00 0%6s 1011 0875100000 bizm 10 0714 2788 01250000 1000 iiza__ses 1o oser 000 101 047510000090 bizm 0732 2788 0,125 0.000 1000
NZ || T 0 b25m 2839 00 0.446 10 0.434 2860 025000001000 |25 T o b2sm 0182 2860 025000001009
|| L5 ||ew msosssio 00 07511185 062510000000 m 290800 033 10 0% 21 037500001000 |[5g 111808110 00 0553 1185 062510000000 b 04 2631 037500001000
J00_ 1200 03210 00 0341 1273 050010000000 bsOm_ 3000 00 02 10 0399 3002 050000001q@0|  |S09 1200 038510 00 021 1273 050010000000 bsom 0511 3002 050000001400
o 75 136100 10 0422 0.374 1447 025010000000 b75m' 3161 063500 10 0082 3144 0.7500,0001.000) 75 136100 10 0416 0331 1447 025010000000 b75m 0.263 314.4 0.750 0,000 1.000]
S |lew w00 10 oms osma 1535 orosiomooen e zas omzo0 10 oo s owsonrgl B0 13400 10 0@ 0977 1535 012510000000 nerw 0100 3215 0875000010
B 5 |[|sor=c 1500 00 10 077 0103 1622 000010000000 moorMs00 10 G0 0977 0181 %285 100000001000 400C<G 1500 00 10 0774 0184 1622 000010000000 D 00 0876 0184 3286 100000001000
=4 5izc 136600 10 0864 0Si4 1691 000010000175 mix 366 10 00 08 0SGR W7 1000000875 [gize 156600 10 08 0SI7 161 0001000025 I IS 10 00 0899 0L 357 10000000047
XU |[gsc 163900 10 0903 0225 1759 000010000250 mZ5r 3439 10 0.0 0764 063 3428 10000.0000.750) 25 163900 10 0903 0226 1759 000010000250 m25r 3439 10 0O 0765 0,883 3428 10000.0000.750)
@7C 171800 10 0935 0431 1628 000010000375 M3 IS8 10 00 0638 0896 M99 L00000000G2S|  [gIC 171800 10 0935 0481 1828 000100035 MAM ISLS Lo 0O 0639 0885 499 10000000025
G50 180000 10 0967 0.737 166 000010000500 MSO 300 10 00 0528 0774 370 100000000500  [gS0c 180000 10 0967 0.735 1656 00010000500 WS 3600 L0 0O 0529 0769 3570 10000000000
gé2c 1852 00 10 099 0993 1964 000010000625 mE2 3682 L0 00 0434 0526 42  100000000375| gé2c 1852 00 10 099 099 1964 00010000625 mE2 3682 L0 00 0433 0530 42 100000000375)
G5 196100 0975 L0 0198 2033 000010000750 m7s G761 L0 00 0349 0209 113 10000,0000250) 375186100 0875 L0 0195 2033 000010000750 m7s G761 L0 00 034 0245 113 100000000250
LB 400 6930 0w s omoroosm e e io o0 G omims iowuownss G7C 2034 00 095 10035 7101 000010000875 maN 334 10 00 0262 0506 194 100000000125
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TUB-test chart LE02; 48 step LECD elementary hue circle input: rgb->rgb* setrgbcolor
g Interpretatiorrgb —> rgb* andrgb* data of colours Ma output:no change compared to input
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